BAKER
UGHES &

a GE company

UNIK 5000
ST -ETVIRAR
EHtEY

UNIK 5000 AT Y (EEMEREREDEHRICH L
21203 &9, Druck OVl 7707 RIEE OIS
BNLREY. AEN. M AFEBLUEIREIF %
AJREICLTVE T, ED1-IMEBLUBWAEE R (C LD
THEROFERAROERICEBIGAL. FIERIRN
BRCHZEERICHHIGVZLE T

B

o [EAL>Z 7kPa(g) ~ 70MPa(abs)
o =& 0.04%FS BSL

o ME ZAFTILAMH

o HH MV, mA YV

o  BIEBIIEHIRIYITIE

o ZREENMFITHIG

[LERPRESERE -55C~+125C

AL 3.5kHz (-3dB)

=ISHaE

BNRMZEX

=MES



UNIK 5000
Rmfter

SHAEAE

EALYY
o« K : 7kPa (g) ~ 7MPa (g)
o >—)LRF—=HFE : 1MPa (sg) ~ 70MPa (sg)
o fEXIE : 10kPa (abs) ~ 70MPa (abs)
o EE

Wet/Dry : 7kPa ~ 3.5Mpa

Wet/Wet : 35kPa ~ 3.5Mpa

IME : 7Mpa max
o RJUE : &=/\A/U>H 350hPa

o J-P0O-R-2Z
J>-E0-R=-20L>
B30,

JICEUTEISEHEETEHMVED

HFEBXEN

O CREZ S A RVFEBKRESD

o =K. I-IRT-JE. MBIE.
=E (BE/ +veR—H)

EHL>P=<15kPa : 10xFS
[EHL>>=70kPa : 6XFS
RREL>D : 2xFS
[EAL>2>70kPa : 4xFS

{BU 7Mpa A TFOL>S(EEK 20Mpa. 7Mpa %
AL >2FE&K 120Mpa
o EE (EEMA —veR-K)

EHL>>=<15kPa : 6XFS
EHL>>=70kPa : 4xFS
J£HL>>>70kPa  : 2xFS

{BUER K 1.5Mpa

BIREH
o F—IFE.I-IRF—JF, HEIE.
=ZE (BEf +veR—h~)

£l >>=15kPa(qg) : 10xFS
[EAL><7Mpa(g) : 6XFS
[EAL > <7Mpa(abs/sg) : 20Mpa

[EAL>2> 7Mpa(abs/sg) : 120Mpa
o A (UKEM -ve R—K) : 6xFS. &K
1.5Mpa

E|REELHH EI‘ /B
BRATER
AT BES
0 mv 2.5~12 10 mVNV <2at 10V
! EARIERHIE mV i 7-12 0mVN <3
2 mA 7~28** 4-20 mA <30
3 0~5V 4wire 7~16** 0~5V_ <3
4 0~5V 3wire 7~16%* 0~5V <3
5 EBOELSIER 3wire x~16"* UFzR <3
6 0~10V 4wire 12~16***  0~10V <3
7 0.5~45V LIAXN)wY 5£0.5 0.5~45V <3
8 HEFREMEROLIER 4 wire 7~36 UFER UTFSR
9 EBOHINEBRL 3 wire 7~36 UTFER’ UTSR

*10vdc BREFEDHZE FS H7(F 100mv EBDFT, HNBEFEREEOZBDREEZ
3E9 . 35kPa AT OL>S(E FS HANEAL > SICHEABILET . (il : 7kPa L>SOERAE 1
BEE 2mV/V ERDET, 10vdc EBIRIFORAENEE(F 20mv EBDFT S )

**3wire DIFE . COEANORKHANTRIC ov EFT FHIDERA. €O-ATEYNE 50mv LT,
IEBSIREAR(E 32V EFTEIINTEE S,

X @ max{(RAHLAEE+LV, 7V (I @ 1-5V HADBE 7V, 1-8V HHDHE 9ov)

HHBERE EE DO B 4 wire (A7'¥3> 8)
RFFEBEOHIDIEBA 3 wire (AT7°¥3> 5,9)
HAHIMEECIBETEET . BULTOEEFETER
FNREXWFEB A,

EROELSHER EROLH B
AT3a> 5 AT33> 8,9
BN 4v 2V
BAZI 1ov 20V
IR v +10V

BRAYO-ATtyh Span/2 (Z/)\>/2) +Span (Z/(>)

SHEE <3mA <20mA@7Vdc, <5mA@32Vdc IR
RERE S Ay a”
ReIERE +125°C +80°C

HAEE L 0.1V BEAI TIETERIEE.
HHBE 110%FS ENFTRIELET
*AT23> 8 &9 DIFE, BIRIEAROZEAERHK 300mA

REHDDBE. Sv> MUEHAENMEZNCRDES .
HAEEDHI
AF2a> 1) AA]
AT33v s 0~5V 1-4V (ZNOWNETED)
EEOEH DB 05~45V 4-11V (P0-ATRYMIARETES)
3wire 1~6V 0.123~5.432V (/N8R 2 #IL LIS
TERL)
1~11V
AT23> 8 MEFBMER -10-0V 0~12V (EFR+10V ZHBZ TUL\B)
DOHIIMER 4 wire 0~5V 6~10V (C0-ATYyMMAETED)
& -5~+5V 0~05V (R/CHNETES)
ATTaY 9 EEORH ~Sov
HER% 3 wire 1~6V
10~0V

KD — -7y B

e mV, V, mMA LHMEEDIEHE B (AT>3>
5) 947 : 10ms

o HEFEY/MEROEIEREK (T3> 8) ERD
H g (AT>3>9) 547 : 500ms

e 500Vdc: 100MQ
e 500Vac: s5mARNER (MVEmMAEHNA

JDd)



3> MRIEHRE
Y MRIE#ERE(FE D D21 -2 3> DiEHICAR
ENTVET FEDIHRFZIEIEITDLICLDHIE
SEHB LT 80%FS L. T FTORIROHESRNT
AFT . COHEBEIX mv OB B ERICHERREN
e Ao Y ICoHERENET .
{BU. DIN & M12x1 BRUIEH IRV HICFTDHEEEN D
hEtA (#7232 7,D,G)
S MRIEBEBEIA T O A TR TEET,
e mV 77 : Shunt Cal E>%-ve Supply (C3E#t
o HOIEHRELMER DL SIHERK

Shunt Cal E>%-ve Output (C35#E
FEC  REHDDIHE. COMBENERNCRDE T,

TEREA%

TEREEER(E 3 FEAACO N, REE(LAR, F5E M) LT
B ILZ7 MEBRDSHDET .

BE GEERE+EATUSR +#EDEUT)
o VHA. mA ., EFFHERIE mv EH
- BEfE +0.2%FS BSL

fBEMLE  +0.1%FS BSL
- JUIT I +0.04%FS BSL
o EIRMMIELRL MV S
=7Mpa
- EHEMFEM L £0.2%FS BSL
- U7 A N/A
> 7Mpa
- EHEMFEM L £0.5%FS BSL
- U7 A N/A

€O A7y MRIVERTE
A1—A-FHCRAIRERBRIBEHRIRII 91T (4
72320, 7, A) FRIZIEITENUTE5%FS £ TR
TEFI.BL. mv EHI1T0IHE. TIHEREZOD
CO- ATy NIRRT TEERA.

TSR ERE

HH JESEEGIRI T -I1T
vV iEAa mA

=D J52 RRURY 1~ L
TR AR R ERIERIRY
55947

AN VN

+0.5 %FS +0.2 %FS

+1.0 %FS +1.0 %FS

v i mA S
EDINUABIBE R E SRR IR
De-94F

+3.0mV +3.0mV

mV

RIEEM

+0.05%FS/£E (typical). +0.1%FS/EE(max)

{BU. 35kPa KimDL > IEEAL SR EEHILTE
1[0 3=

mBEE

TREEH(E 4 DICHHINTVET,

S & SAENRE AN
7

-10~+50°C +0.75%FS TEB +0.5%FS TEB
-20~+80°C +1.5%FS TEB +1.0%FS TEB
-40~+80°C +2.25%FS TEB +1.5%FS TEB
-40~+125C +2.25%FS TEB +1.5%FS TEB

{BU. 35kPa FKmWDL > SIEEDL SR EEAFILTE
muEds,

Fle. RKRUEL>ZIOOWTIFENEN LD 2 {B0fE
MEERERDE T,

SAVEZE (EELYSDH)

vo-2Jbk : +0.03%FS/100kPa 51 £
YIAZIDI N : +0.03%FS/100kPa 51 V£
{BU. 70kPa Ki@mDLIEENL IR EEHFILTIE
uEd,

BiE

RN
o BRURHDHAZSIR

o FEFEIEN : &K 2Mpa

fERRE SRR

BRIEHOHAZESR

BT 3IRE

o F—SE.I-IRF-SFE.EUE. EE
(wet/wet)
SUS316L & Hastelloy C276 (GBS BIEIK

o ZE[E (wet/dry)
SUS316L. Hastelloy C276. >, \{LwIRET
REISEE T DR

NOSYIME

ATOLA (RT¢) ZMN-XES)T->-T4 (0
U>H. HZ7yR) (EPDM (HZA&wh, TwIFZ-1—
>) PTFE (RUK-T4I7) | ZvFib-XvdEi (O
w2 ) | ASAADFA0> (BRIEHIRIS-T
> J)) (T (FyvITR-O-Y) .

T=I) - Svry  NOMBE(CDVWT(IERIEFRE IR 9%

77
§ ,H.'\:! °



ENHMEF
- G1/4(F)’
- G1/4(M) flat
- G1/4(M) 60° internal cone
- G1/4(M) flat long
- G1/4(M) flat with snubber
- G1/4(M) flat with cross bore protection
- G1/4(M) with nipple
- G1/4 quick connect
- G1/8(M) 60° internal cone

-G1/2(M)"  CBEINTTITHZNTB)
-NPT1/4(F)"
- NPT1/4(M)
- NPT1/8(M)

-NPT1/2(M)" CBIBINLTITHENT )

- M20x1.5(M)

- M14x1.5 60° internal cone

-M12x1 60°internal cone

- 7/16-20 UNF(F)

- 7/16-20 UNF(M) short flat

- 7/16 UNF long 37° flare tip

- 7/16-20 UNF(M) 74° external cone

- 3/8-24 UNJF

- 1/4 swagelok bulkhead

- M10x1 80° internal cone

- M12x1 60° internal cone

- M14x1.5 60° internal cone

- Depth Cone (G1/4 female open face)

- M12x1 74° external cone

- Quick Release Male

- VCR1/4(F)"

- VCR1/4(M)"

- NW16 flange

-R3/8

-R1/4
7Mpa LD EDEDL>ZDIZE . *TN—IENIHRTF
ZEIRUTT S,
TDOMDESRFOCELICBISALET .

ERER

BRI (EFRE -2/
o R
0 IRI5130 -55~125C - AJBE
1 =IN-J5R -40-80C  ©5 A7
2 LAT L =T -55-125°C 65 e
3 RUILAVKAIETo—T 0~30°C 68 A
%
4 Hytrel ZKAZEto—J b 0~30°C 68 Ae]
6/E MIL C 26482 1494 -55~125°C 67 ]
7 DIN 43650 J%4%4 -40~80°C 65 AIHE
(ERDFAU AT HE
AJF MIL C26482 %454 -55~125°C 65 aJEE
(ERDFU AT HE
1/2 NPT I Swh -40~80C 67 7\
Micro DIN -40~80°C 65 8]
(9.4mm EwF)
G M12x1, 4 E> -55~125°C 67 8]

Low Smoke Zero
Halogen 7—J)L

-40~80°C 65 aJHE

(ERDF+ LT HE
M H3 -20~80°C 65 ]
RO3-R6F, 6 E>
R M20x1.5 -40~80°C 65 aJRE
12314>

JFRC -

o HEFRUMERLE N (AT 8) (HMERLEEN S0 CETLSIRaNE
ER

o FEHH (AT>3>9) (HMEAREN 80 CETLFHIRENET

o BRI T HMERRESFN-40~80CICHIFITNE T,

o BRUBHIAT R D 1P65 (3> DYNRUT =TIV 19T OfER%
BRELET,

o mV HADBE. TIHBHEZROTO- ATy N2 FAZEART]

OGRS

e RoHS 2002/95/EC

e CRN FR:E OF13650.517890YTN ADD1/
REV1, OF13828.2 (B&isksy(7 K ®RUs1F 0) KU
CSA
0F13650.56 ADD1 (35MPa U FoL>s

o CEEAM

CEEAME

e Pressure Equipment Directive 97/23/EC: Sound
Engineering Practice

e ATEX 94/9/EC (Optional)

e EMC Directive 2004/108/EC
BS EN 61000-6-1:2007 /31=74-BR T %
BS EN 61000-6-2 : 2005 /31-7(-ET 2 (mV
H 54 TBRC)
BS EN 61000-6-3: 2007 I3 3> -8R T 5

BS EN 61000-6-4: 2007 IXy>3>-ET 5
BS EN 61326-1: 2006 5l i, RRUEERFA
BT
BS EN 61326-2-3 : 2006 [E/IRIVRT1—HDHF
EEKRFEIR
P5IREREE (AD°>3Y)
—M& . o IECEX/ATEX Intrinsically Safe ‘ia’ Group IIC
¢ INMETRO Intrinsically Safe ‘ia” Group IIC
e NEPSI Intrinsically Safe ‘ia’” Group IIC
* FM Approved (Canada & US)
Intrinsically Safe Exia Class |, Division 1,
Groups A, B, C& D and Class I,
Zone 0 AEx/Ex ia Group IIC; Single Seal
o |[ECEX/ATEX Intrinsically Safe ‘ia’ Group |
¢ INMETRO Intrinsically Safe ‘ia’” Group |

R




BRIEROLHEE

JRY5ERR HHIESIIT
V(3-wire) V(4-wire) v (iR v (ERESD mv
FEEE S 3-wire)
4-wire)
Molex 0 175 +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply
2 - +ve Output +ve Output  +ve Output +ve Output +ve Output
k%5 - - -ve Output -ve Output OV common -ve Output
L5 -ve Supply 0V common -ve Supply -ve Supply 0V common -ve Supply
5 & - - - Shunt Cal Shunt Cal Shunt Cal
62 Case Case Case Case Case -
Polyurethane 1,3,4,C I +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply
EZE:Z’ Hytrel o - +ve Output +ve Output  +ve Output +ve Output +ve Output
5 - - -ve Output -ve Output 0V common -ve Output
B -ve Supply 0V common -ve Supply -ve Supply 0V common -ve Supply
& - - - Shunt Cal Shunt Cal Shunt Cal
% - - - - - -
290> - - - - - -
Raychem cable 2 D +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply
=] - +ve Output +ve Output  +ve Output +ve Output +ve Output
x - - -ve Output -ve Output 0V common -ve Output
= -ve Supply OV common -ve Supply -ve Supply 0V common -ve Supply
=2 - - - Shunt Cal Shunt Cal Shunt Cal
20)-> N - N N N -
Bayonet 6,A A +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply
B -ve Supply +ve Output +ve Output  +ve Output +ve Output +ve Output
C - - -ve Output -ve Output 0V common -ve Output
D - 0V common -ve Supply -ve Supply 0V common -ve Supply
E - - - Shunt Cal Shunt Cal Shunt Cal
F - - - - - Shunt Cal
DIN, Micro DIN 7,D 1 +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply
2 -ve Supply 0V common -ve Supply -ve Supply 0V common -ve Supply
3 - +ve Output +ve Output  +ve Output +ve Output +ve Output
E Case Case -ve Output -ve Output 0V common -ve Output
Bayonet E,F A +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply
(USAEARE L B - 0V common -ve Supply +ve Output 0V common +ve Output
&) C - +ve Output +ve Output -ve Output +ve Output -ve Output
D -ve Supply - -ve Output -ve Supply 0V common -ve Supply
E - - - Shunt Cal Shunt Cal Shunt Cal
F - - - Shunt Cal Shunt Cal -
M12x 1 G 1 +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply
4-pin 2 - +ve Output +ve Output  +ve Output +ve Output
3 -ve Supply 0V common -ve Supply -ve Supply -ve Supply
4 Case Case -ve Output -ve Output -ve Output
Zero Halogen K (DY) +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply
Cable =] - +ve Output +ve Output  +ve Output +ve Output +ve Output
% - - -ve Output -ve Output 0V common -ve Output
= -ve Supply OV common -ve Supply -ve Supply 0V common -ve Supply
79 - - - Shunt Cal Shunt Cal Shunt Cal
% - - - - - -
ﬁ - - - - - -
29— - - - - - -
EPS M A +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply +ve Supply
RO3-R6F B - 0V common -ve Supply -ve Supply 0V common -ve Supply
C -ve Supply Case Case Case Case -
D - - -ve Output -ve Output 0V common -ve Output
E Case +ve Output +ve Output  +ve Output +ve Output +ve Output
F - - Shunt Cal Shunt Cal Shunt Cal Shunt Cal
M20x 1.5 R +ve +ve Supply - - - - -

12314> -ve -ve Supply - - - - -




A-—-5—-15%
(1) EFNESEER

BmiEs

PMP VHAENDNSDRTI-Y

PDCR  mVHAFEANCRTI-Y

PTX 4-20mA BAOEF RSV RAZYS
B@IN-X&
5 UNIK 5000
| RemE
I 0 25mm Stainless Steel
| BRIER 6
| 0 JIRHIBL ET
' 1 F=IN-I50R (RUILE>-o—TIL)
| 2 LATL—TN
| 3 RUILA =TI (KAIED)
I 4 Hytrel 7—JI OKAZED)
| 6  MIL-C-26482 (6-pin Shell Size 10) (XAF1>4 - AR5 FI5E)
| 7 DIN43650 Form A ERDANUBIRER AT (XAF4>4 - DRIHFE)
| A MIL-C-26482 (6-pin Shell Size 10) ERDIMLBTHERIAT (A1F4>% - IRD5BI5E)
| C  1/2’NPT O¥2wh (RUILA>-=T)L)
| D Micro DIN (9.4mm EVF) (AAF4>J - IrI93E)
| E  MIL-C-26482 (6-pin Shell Size 10), USAHHEEVELE (XAF4>% - DRV45I5E)
| F MIL-C-26482 (6-pin Shell Size 10) EROFMUBIBERSA( T, USIHARCSELE (AAT1>4 - I2I55I5)
| G Mi12x14-pinmale (AFT4>7-IRIF10)
: K Low Smoke Zero Halogen —J ). ERD4UEIBER 1S

M 433 RO3-R6F. 6K
: T M20x1.5 4>FAXZA> Sy, BROSNUATHERS1T 3 8
HhtEsE
: | 0  mVPassive 4-wire (PDCR) ¥ 1
| I 1 mvLinearised 4-wire (PDCR)
| A to 20 mA 2-wire (PTX)
| : 3 0to5V4-wire (PMP)
| | 4 0toSV3-wire(PMP)
| | 5 1to6V3-wire(PMP)
: | 6 0to1l0V4-wire (PMP)
| | 7 05to 4.5V Ratiometric 3-wire (PMP) 3£ 5
| | 8 Isolated/Configurable V 4-wire (PMP) ¥ 4,5
I | 9 ConfigurableV 3-wire(PMP) 3 4,5
, | AR
| | TA -10to +50°C
| | TB -20t0 +80°C
I ' TC -401t0+80°C
| : TD -40to+125°C 32,5
L e
: | I a1 g
| | : A2 ¥EERELE
| | | A3 _7’1/57L\ ~
| | || semmmEREr—s
| | | cA EORRN>-7-4
| | I CB ERRIET—Y
| | I cC BEIS--T-4
| ' | | AER2WIR 6
| l | I HO None
| : | I H1 IEC EX/ATEX Intrinsically Safe ‘ia’ Group IIC
| | | : H2 IEC Ex/ATEX Intrinsically Safe ‘ia’ Group |
| I | | H6 FM (Canada & U.S.) Intrinsically Safe ‘ia’ Group IIC/ABCD
: | : I HA  IEC Ex/ATEX Intrinsically Safe ‘ia’ Group I/IIC [H1+H2]
| | | | HS IECEX/ATEX/FM (Canada & U.S) Intrinsically Safe ‘ia’ Group I/IIC [H1+H6]
| | I | J1 IEC EX/ATEX/NEPSI Intrinsically Safe ‘ia’ Group IIC
| | I | JA INMETRO Intrinsically Safe ‘ia’ Group IIC
| | I | JB INMETRO Intrinsically Safe ‘ia’ Group |
| | | | JF INMETRO Intrinsically Safe ‘ia’ Group I/IIC [JA+JB]
I | | | EAH#F
| I | | PA G1/4Female 3 PQ G1/4 Quick Connect
| : | | PB  G1/4Male Flat PR NPT1/2 Male via adaptor 3 3
| | | : PC G1/4 Male 60 degree Int Cone PS  1/4 Swagelok Bulkhead
| | | I PD G1/8 Male 60 degree Int Cone PT G1/4 Male Flat Long
: | : | PE NPT1/4 Female 3 3 PU  7/16-20 UNF Long 37° flare
I | | | PF  NPT1/4 Male PV 7/16 UNF Female
I | | | PG NPT1/8 Male PW Depth Cone (G1/4 Female open
| | | | PH M20x1.5 face)
| | | | PJ M14x1.560°Cone PX 7/16-20 UNF Male Short Flat
| | | | PK M12x 1 Internal Cone PY 3/8-24 UNJF
| | | | PL 7/16 UNF Male PZ M10x1 80° Internal Cone
I : | : PIN G1/2 Male via adaptor 5¥ 3 RA VCRFemale 5¥ 3,9
v # Y V VY ¢ Yy VYV
PTX 5 0 7 2 -TA-A2-CB-HO-PA Typical Model Number

RB
RC

RD
RE
RF
RQ
RU
RV
RW

G1/4 Male Flat with Snubber
G1/4 Male Flat with Cross Bore
Protection

M12 x 1 74° External Cone
Quick Release Mount

VCR Male 3F 3,9

NW16 Flange

R3/8 Male

R1/4 Male

G1/4 Male with nipple




E1 TLI7 LT

2 BRIBRIRIAIEATIA0,2,6,AE F Xl G DHiRIRA]

7 37MPa KD EDEAL DS DIFEFIOMFZIEIRLTTEL

7 4 RREMERE 80°C

5 BRI TAT]

7 6 BRIBERIRIICIO TENI ZARBELZEHRFISHERDET,

HO o o o o o 0O o o O o o o o o
H1 o o o O o O O O O O O x x O
H2 O x O O O O x x O x O x x x
H6 o o o o o O o O O O O x x x
HA O x O O O O x x 0O x O x x x
HS o o o o o o o O O o0 O x x x
J1 o o o O O O O O O O O x x O
JA o o o O O O O O O O O x x O
JB O x O O O O x x O x O x x x
JF O x O O O O x x O x O x x x
E7 %ﬁﬁfﬂ?Eéib“ﬁﬂ%ﬁ?%liﬁ%b(b\ig“o BHBRARS(CRTESNZ 1P ERTEIL =T I0-Sv — 23 F DTN SGHRE—HE(AER UL
(o o

8 HAATIaY 2 0F.

7 95MPa LT OEAL > SDIZEDH .
(2) EHLOSEEAIZISE

{5 : 0to 100 kPa, -5 to +5 psi

FETE O] BE/REEAT

bar, mbar, psi, Pa, hPa, kPa, MPa, mmH,0, cmH;0, mH;0, inH0, ftH,0, mmHg, inHg, kfg/cmz, atm, Torr
(3) UI7L>RIEHDOIEFEZIETE

{5 : gauge

FETERIRERUI 7LV AE S
gauge J->E sealed gauge S=VRT=
absolute e E wet/dry differential DIy RIAETE
barometric K=t wet/wet differential DIyhoTYNEE

(4) T-JIREBAZIBTE (FBEIDH)
(5) BAAT>3> 8 X(F 9 m&IRUIGE. COEAREOENEIN - RT—IVEHBOE N%EIETE
5 : B -1to9V
A—4—-BK D
PTX5012-TB-A2-CA-HO-PA, 0 to 10 bar, gauge, 3 m cable
PMP5028-TD-A3-CC-HO-PE, -15 to 75 psi, gauge, 15ft cable, output voltage -1 to 5V
PDCR5071-TB-A1-CB-HO-PB, 0 to 100 bar, sealed gauge
7o) —
MIL-C-26482 (B&RIEHIRIS-AT3> 6, A, E, and F) FADAAT4>Y - IRH4., EBP@ES S_163-009.
7 BRIV TOEREARTE],
REER G
UNIK5000 FBT 1 4)LINRILA—4 o UOHLHABEDEIEE 0.1%FS
AM-756-HS (BPGmEES U8-0830-xxx)

' . o SMIZ~T3E H 48mm x W 96mm x D 102mm

U8-0830-[1[]

LEER
0 UL
1 UL—HH
2 KMITSHEH
— A3

0 &L
Enter Mode 1 AERHILE
. - - : 4 PFOYTES + SREBHIF
e R AR 51/2 #M7 — ~ R

N 1 AC100~240V
o« UOHRAERAE 10V, 12V, 24V 1—HE%ER] 2 DC12~48V




Mechanical Drawing

>

MALE PRESSURE CONNECTION HIGH PRESSURE CONSTRUCTION CABLE GLAND WITH POLYURE
(ALL RANGES: > 70 bar TO <= 700 bar)

(22 A/F) I a
15.5 ﬂY 22 AIF
e f g
)

25 TYP
3y
D25
TN

T T 7 N\
j Qlif RAYCHEM CABLE 1’

i35 Indus triol Range = SRR MEDIUM PRESSURE CONSTRUCTION
Inproved Range = EBLE CINDUSTRIAL RANGES: >= 1 bar 10 < 50 bar)
Premium Range = JU3T4

—69.5 — —=
6 “7 15.5

&

fe——— 60

o g2 B %
—L = DEPTH CABLE
DEPTH CONE LOW/NEDIUN PRESSURE CONSTRUCTION
PRESSURE ADAPTOR O BROTER D pebitti et el 0 w0

fe— (49)

r¢25 (— 15.5 BOTH ENDS

1 POSITIONS OF ZERO AND 149)
SPAN POTENTIONETERS . t

il

28

U |

OPTIONAL PRESSURE ‘
ApAPTOR(2] ‘

=)
=
w
3
o
3
=
)
=
=
=
=
IS}
=
=
=
=
@
=
™

WET/WET & WET/DRY
DIFFERENT IAL
CONSTRUCT ION

Lkgi AAHJ 2
— 80 — - 32

NOTES: L
[17 DIMENSTONS SHOWN ARE FOR STANDARD LENGTH PRODUCTS WITH THE FOLLOWING

ELECTRICAL OUTPUT OPTIONS =
PDCR (L INEARISED) 825 j:'j
PTX i
PHP (BASIC) L
FOR PDCR (PASSIVE) - SUBTRACT 10mm (22 AE) CONDUIT WITH POLYURETHANE CABLE
FOR PUP (CONFIGURABLE) - ADD 15mm

RSé‘T
[21 REFER TO PAGE 3 FOR LIST OF PRESSURE CONNECTION OPTIONS |

9
(ORIENTATION NOT CRITICAL) “
= 33.45 T H

47— 17 {4[ @25

@25

LU TAIIMI RO3-RF
) MICRO DIN (9.4 nm)
— 7
@25 ® @4 j 15.5
| e -
L L @25
M20 x 1.5 INLINE FEMALE L
CONDUIT DENOUNTABLE L
ZERO HALOGEN CABLE DENOUNTABLE BATONET Mot S 2ide BATONE] W1L-C- 26467 W2xt 4-p 1K
VN #t T 104-6023 BEREPPRXEEE 1-8-10
®oOox K WEE7A5Y RNINSRITIFAT(ZHT— X 23F RIEE
Tel: 03-6890-4538 Fax: 03-6890-4539
BEFIZ-hLt>H - T 104-0052 EREPRX/E 4-16-13

Tel: 03-3531-8711 Fax: 03-3531-8721

—_— ~
W LS €Y 45—  T945-0395 FHBIENTENIAAT+HET 800 j‘IE :-I— %g | %*ﬂi ‘ A\ *i
Tel: 0257-45-5509 Fax: 0257-45-5519 A I\ ZX

A B X # T 542-0081 KIRFFAMRT RS 2-3-2 TEL : 06_6362_753] FAX : 06_636] _1 35]

Tel: 06-6260-3618 Fax: 06-6260-3616

% & B X # T 460-0003 BMBELEHEHHXIER 1-13-26
Tel: 052-857-0104 Fax: 052-857-0108

. . BHGE (3. RERHCRIHEBLUFRICEBZNMIBIER, FLEASTEEFEBZEDTICEHMORREL
www. geoilandgas.co.jp/ms STHFEILTE SR IEERRLES. MITOERITOUTIE. BHGE DIBSETHHUADEZAL, BHGE OO,
Baker Hughes, a GE company, LLC DFE#2TY, Baker Hughes, a GE company, GE D€/ 5. Druck (&, T3 T
LN - i\ Z—OIRTY . ABTERI2TOMOEERFFERAE. BHGE LFIREBRCRVEEIR
FEBEOBRIEBRERTY.

© 2017 Baker Hughes, a GE company, LLC - All rights reserved. 920-483J_JB




